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Precalculus KEY

o Name:
Test Review 4.5-4.8 (Day 2) | Date- Period:

1. A plane flies 62m east and 20m south from an airport. The pilot flies directly back to the airport. What bearing
shoylhc’i he take? What bearing would a ship take? Round to the nearest tenth of a degree.

Airpane: TAN0™ 22 Ship: N? W
m"%g- 17.9° Tan ©< %o?. N 72l W
mri,y ‘”’”: )JD.‘f'O"}‘ 127° mn-’ ‘z= 72".
= 287.9° 2379° [

2. A ship is 90 miles south and 20 miles east of port. If the captain wants to travel directly to port, what bearing
should be taken?

HSTISE N () N125W ) NTISE A) S125W ¢) None of these
2
E - 20 -
A o=z  taT 22 9= 125°
b

(/] ) ? =]
= 3. Evaluatgearctan(l) TN .

c) %r d) ‘%r ¢) None of these
) > d) 2B-x ¢) None of these
X' +25 A 5
k’ 2 - - 2
2 z]? Y e*=x"+5
ff’;r';,g x S¥1x o2 = x2425
5. Evaluate: arcsm[sm 2 ) Lirverse P"" (‘H[ X s e= W
) f @ -z does et ?—y d) 3 ) N fth
a 5 e) None of these
&n?ﬂ --) arc,slﬂ("l) = -n.
- 3n2=-l
(0)-1)
A (0)-1)
6. Evaluate: tan[arccos[——x]'] c-, 11? v
a) _4 b) g @—% d) % e) None of these

3

5
2 fane = -~ 2
-7'

XX 1

7. Determine the period: f(,\)———cos(i——) Q.gT-: :’? = 2.3 = oft
d

.6:: b) 2% c) % ) % ¢) None of these
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8. Which of the following is a vertical asymptote to the graph of f(x)=csc3x?

V.4 3r
a) x—? b) x=— ) @x——

X WORK ON next PY.

9. Match the graph with the correct function.

3(x+7

a) y= 4cos£3x—£ b) y=4cos(3x+gj

3(x-%)

T V4
=4sin| 2x—— =4cos| 2x+—
c) y ( > 4 3 @ y (x 3)

2(x-4) 2(x+ X)

e) None of these

10. Match the correct function with the graph.

A
A y:cot(x—%) P tanI
* v =—cot(4x) df y-tan£4x)
Smrr! b -
¥ e) None of these e ‘!.
START!:! bX-C =O X "K
YX=e
o A=0

ENO: bX-C=T wx=11 yx=

11. For given function f(x)=-2 sec(gx 4 g) +5 find:

a) The phase shift 2 units ekt

b) The range: -2,33 VL3 )

¢) The period:

2 = 2 -
%"-—Ig,zn-#-

d) x= % e) None of these

\-‘

/AR
[ 141 il

—

y=-2c0s (Tx+E)45
y=-2 (_05[%-()(4-2)]"'5

d) The amplitude: none

e) All vertical asymptotes on [-2,10]: X=\

12. Sketch at least one full period. (show all work)

* Sce next PI-
a. f(x)=4+sin 2;\'—%)

c. h(x)=-tan(3x+7)

e. m(x)=3sec(3x-7)
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racror!
12 :-v“,
)
2 )/ S 8
b i PRl S
I |?.
x=7 ]
-2 Il‘, 4 7 1w
5auc=ﬁ;?“= L;—=3

b. g(x)= —2cosl£0x+3
d. k(x)=§c0t(£x—£J
8 4 3

5
2 r(x)=3—§csc(£x +£)
5 3 4



9. Which of the following is a vertical asymptote to the graph of f(x)=csc3x?

a) .rzg b) x:%’r @x:% d) x:% e) None of these
¥ gaaph Y= Sin3x
% pevied = &7
Sart. bx-6=0 3X=o x=o0
END. bR-€=2M 3x=271 x=%17

period :
-~ ’G. 2 = I -
A R A 4
9 | |
R
e o ——
RRRE A
AT
12. Sketch at least one full period. (show all work) * ue 4
y= Sin (Z(X-;I{)) +4

a. f(x =4+sin[2x—£}
) 6 ¥ FAcror
X Shit 2~ Right

2
period = = '2'?. =T amohhde: /4] = /
start: hy-c=o el bycs2m

2x-Zco 2y-Z =21
1 (2X47) % 2X= I+ 27
+ (2= (1) 4

scais o7 = .3

Key points:

- W W
|
l

Ir
7";,‘1),(5,5), ! EESERE
T ST o
F.Z-qu) (511-5) g. 'g- 2 { %.
72,10 6, P & or
== T2 /2

(B7,4)
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Key poinis.

ASYMOTDOTER "
x=X x="F

i
IO

b= &

5,150, (%)

o=3

- T & Shrér up 3
b. g(x)= ‘.‘2‘cos x+3 Reficet over X-AxiS
period= 27~ 20 = 2mW.J©0 = 20 amplirde ! /2] = 2
b _;1" m
(/]

SPRT. hy-C =0 BnD. bx-c = 27 sqle. %”“:_z_o
o (I /O 10 /0 =l2mw) o -
?]:i!uxfwfr %(%’@“”f@ @

x=0 ) @z 2

Key Points: s

(0,1), (5,3), U10,5) 4

(15,3), (20,1) 3 £

2
|
0]
C. h(x):;tan(-?’“”) Yy=- Taf\(B (X-l'_'g')) X shif1 T |e+
Refect over X-AXis K focrok ! -
amplitvde: none
period: L =
smart. bx-c= ~&
3X+T = I
3X = -%T’—ﬂ-xf~
3 (3%=(¥) 4
B Y
=
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d. k(.\‘)=éco[[£x_£}
8 4 3

‘amplitude. nont

onart.

KeY points:

(3,3),(50),
@3)
'Asvmmhisf
X=3 x=%

e, );1(-.1-):3sec(3x—ﬂ) y= 3(‘,@5(3)(-11) 333005 (3()(-_%-))
amp: none '
i = 2
o -
—11 = - = —
S BT 3% =37 X
oc 2T =T -
A
oC e
6
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e. m(x)=3sec(3x-7) (Continued)

ASYMPDIES. |
x= % x= % 31 {r\'
(Z) (F-),m» 2] 3 E“; 7 7
,3 ) =3), 13 :g: -2
’ If%l
FFYLT

¥ Challenge PRoglem
£ r(x)= 3—§csc{j—ﬁr+x]
5137 4

2 (x+3)
amp’, nNbne
pecioa: =§§:zw-% = 3
3STakT ! END, Scale!
2Irx +I <o 2T x+F =27 (:‘:ﬁ_})
or
Ty =T Fx=273-F =

ASYmPIOTES: BB SR =Y i
KeY points ' -3 é ')é 'iji %:l

(3,28), (%,3%)

saving journal files Page 7



